Geometry Parallel and Perpendicular Lines Day 2 : Writing Line Equations

(\ Steps: 1) Put equation of line in slope-intercept form (y = mx + b) and find the slope of the given line
)

2) Identify the appropriate slope we need:

)\
1)
b) Perpendicular slope means use opposite reciprocal of the equation’s slope ( mz)

3) Plug in point (x,y) and slope (m) into equationy =mx + b to solve for b.

4) Write new equation in slope-intercept form: y=mx+b  m =slope, b = y-intercept
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1} Through: (-3,-3), parallelto y = gx -3

2) Through: (2, -4), parallel to y = ~4x — 2 |

3) Though (-5, -1), perpendicular toy = 3x + 3

4] Through {-4, -4), perpendicular to y = x — 4

() 5) Through {7, -5), pemmdlcuhrtoﬁs
N




Yarsllel and Perpendicular Lines Day 2 Homework
“Write the slope-intercept form of the equation of the line described.

11) tioughs (4, 5, paralel o y=%x +3 12) through: (o, -5), parallel to yw%x— 1 & }
13) ﬂmowgh (3, ~4), parallel to yméx 14) through: (3, 1), parallel to y=-*§-x—4
15) through: (~2, 4), parallel 1o y=—é—x 16) through: (-3, ~4), perp. to yn-%x—it ()
17) through: (1, 2), perp. to y=~f:-x+ 1 18) through: (2, -4), perp. to y=§x+~4

19) through: (2, 5), perp. o y=5 20) through: (-1, 0), m.wﬁ__;_“l
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Geometry Parallel and Perpendicular Lines Day 2 : Writing Line Equations k C-\?j

Steps: 1) Find the slope of the line given in the problem

/
N 2) Identify the appropriate slope we need: é} wrr'/,ﬂ Erratiom ins / > -W‘{¢4mf+ gw
a) Parallel slope means use same slope as the equation’s slope [/h \ Lf mX !

b) Perpendicular slope means use opposite reciprocal of the equation’s slope @2)

3) Plug in point (x,y) and slope (m) into equationy =mx + b to solve for b.
4) Write equation in slope-intercept form: y=mx+b m =slope, b =y-intercept
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1} Through: (-3, -3), paralleltoy = -x 3 M= %

2) Through: (2, -4), parallel to y = ~4x — 2 m ~-L,L
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3) Though {-5, -1),pemendlnularmy-——x+3 m, —/f mz /5'

¢ _h-( 4t +,

4) Through {-4, -4), perpendiculartoy = x —4 /7 = "M = "(
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5) Through (7, -5), uior
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Parallel and Perpendicular Lines Day 2 Homework
“Write the slope-intercept form of the equation of the line described.

1) ﬂmnsh (a,5), pmualioyamx+3 12) through: (0, -5), paralleltnym%xml mfj
X y,, m /“~ X 4
ﬂ:m”é (_/,_\_ j:mx+L m
. [[4= 2x+t] |
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13) through: (3, ~4), parallel mng 14) through: (3, 1), pm‘alleitﬁyw—g-x-li m ,{%
“ 4 m="3 1
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~4=30)4

j‘ —-x+l

“Y=-54(
I =1
15) through: (;(2, 4), parallel to y y=- _;-x
j:mx+£> m=z

4=§@@+é/j=§X+3
G=1+}
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17) twough: (1,2), perp. o y =141
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= $x-32
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19) through: {2, 5), perp.toy=5
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16) trongh: (3, 4) mmy--ix..4 > 7

j:mx-té “X"
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= -g-ré
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20) through: (-1, 0), W~mﬂ=“-21"x+l mz:az
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